% md_chauffage {PLC_PRG.graf_mode_chauffage} (FB-5FC)
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Step ,rempl_silo“ Eingangs-Aktion ,E“:

% Action rempl_silo - Exit {PLC_PRG.graf_mode_chauffage} (5T) - md_chauffage (FB-5FC) =N =N
0001|chauf_stat_dmd_star ;= FALSE; chauf_stat_dmd_start =g
000
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Step ,rempl_silo”“ Ausgangs-Aktion ,X“:
% Action rempl_silo - Exit {PLC_PRG.graf_mode_chauffage} (5T) - md_chauffage (FB-5FC) =N =N
0oo1);
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Step ,rempl_vis“ Eingangs-Aktion ,E“:
W, Action rempl_vis - Entry {PLC_PRG.graf_mode_chauffage} (ST) - md_chauffage (FB-SFC) == | =]

0001|TP_chauffage_tempo(IM := FALSE, PT:= T#5s); (*réinitialise la tempo®)
TM_charge_start = SECOND_TO_TIME(TM_charge_start_real]; (*char
000

TM_charge_start = T#0ms

. TM_charge_start_real=7

Step ,rempl_vis“ Ausgangs-Aktion ,X“:

% Action rempl_vis - Exit {PLC_PRG.graf_mode_chauffage} (5T) - md_chauffage (FB-5FC)

0001|CMD_vis_3_chauff_av_auto:=FALSE; (* arréte charge pendant 7s *)

000:

CMD_vis_3_chauff_av_auto =




Step ,test_starter” Eingangs-Aktion ,E“:

%y Action test_starter - Exit {PLC_PRG.graf_mode_chauffage} (ST) - md_chauffage (FB-SFC) (== =]

0001|TP_chauffage_tempo(IN = FALSE, PT:= T#5s); (*réinitialise latempc » | -
TM_attente_detection_Starter :=MINUTE_TO_TIME(TM_attente_detec| || TM_attente_detection_Starter = T#0ms TM_attente_detection_Starter| |

0003 temperature_fumees_avant_demarrage:= Temperature_fumees; : temperature_fumees_avant_dem... =0 Temperature_fumees =0 [
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